tbar

~t
1

13000 GeV pp
I I I |

M [pb/GeV]

:l I I I | I I I | I I I — 9

— —

- ptPa" (ATLAS semileptonic ttbar) e

B T P o

1e =3

— 1

- - A

- m =)

- ~ H

0 107 oM E

S E m \f;.\;.;‘-\ E )

g - B 18

102k TR ="
= = m ATLAS . =
b — 1+ Pythia 6.428 350 “#-.-;.;;}\ - ]

T gs L - Pythia6.428.351 g g

= - v Pythia 6.428 352 s 35

- A~ Pythia 6.428 353 o

. || o Pythia6.428 354 gk

10" E= - %-- Pythia 6.428 355 EE

- .5 Pythia 6.428 356 15

- Pythia 6.428 357 s

10 = Pythia 6.428 358 —=c

— ---=-- Pythia 6.428 359 39

| -1 0

- -1 O

107° =8

= Y I T B S =

2 £ =2
)] - E
0 - ]
- - |

l_

= - i

2 T 1
'.c__U' B \‘z:L‘\ |

x




	Contents
	Page 1


